EAGRAROBREERT — 2 N— ABISH —F

2

020528128 (k) 11 E##E3H

B sxcrc vS5xamtop

EZS

=

‘ [REBB] — | & (%) 18000 B

[A~&£] 1 7 12,000,000 § ~ 2 3% :4,200,000 § . 33 :2,400,000 @ 4 37 :1,200,000 § 5 & :600,000 M

B B BEBR M HE BF (FE) g4 L (&%) | BBIEM | EOF [SIEE | AR | A2 | BEER (FRB) / BE / £ENS
— s & R :53. -1-1- . — WETFEE (IHE)
1l8l12 YUY F A —3 4 6 554_5 1(5_3)8 1-1-1-1 | 39.7 5 <5+159) éjﬁmg /N
Lid— W RPY2—b BHLGIS—> EAMIS
£ 0 47 | BEY 1:54.1 3-3-2-2 [39.8| — 1 535 | KEFESE (#FN)
2(7]10 2—EZ X 56.5 (1 1/2) (+4) REZ
o140 B:Fr—LIL T plltie
TREA :54. -7-5- . — RHEE (M)
3 g | ¥/ 774k "5 = }75?:)2 7755 | 38T s 3372) M=l
T ART=NTF— BTAT7AU—FK o BAE
3 1|38 : —9=0— = HHBE (B
4 3 O F o —1) — 4 8 ot 1.(5‘8.0 2-2-2-3 | 40.7 6 (55; /J\?fﬁ;% A
R:TITRAFTAIL B:anN/ k-4 YA TS
AEEKR :55. -9-9- . — NAIRE (@)
5/1[1|¥a—= N2 4 6 A 1(15/52)1 9-9-9-9 | 40.0 9 <5+131) /J-:EEWL\-T-
R:va—-HhTF—/ B:¥a-T753—Fh IR
o= .y 4 6 | AL 1:55.2 4-4-4-4 | 40.7| — 2 500 | /IIBE— (#a45)
6lgli1|X>F>avy 56.5 (7€) 4y | RARE
Y IR G4 I5RX B:XAZ—byay +H 3
> SH S # o7 | KBS 1:55.5 8-8-8-8 |40.7| — 4 492 | NAARE (AFn)
1 > DIREEY AV 56.5 a1/ ) | B BITLYKI5TIT T
L:YZRH—-3Z24— BHHFULARE— O
2 =, A0 HEARE 155, ~5-5- . = FILESAS (B
8 NEEPASPAYE 4 6 56_51— 1(515)7 5-5-5-6 | 41.2 1 (5_431) ’.:T‘EIR;EIJ
L hItwR BiAM2T71=2—4 %3 & A BEBS
[EE-FN :56. ~6-5- . — JETFEE (IHE)
917 9| 7B 4 8 s 1(556)7 6-6-5-7 | 42.2 7 (5:)22) ﬁéaaﬁ% gN
L:hxex) B:bhyTFTRK-F X A
N o AlGER :58. -10-10- . — KEHHEE (E)
1w0l5] 6| NTHELELT 47 s 1 (5(;3)0 10-10-10-10/ 42.1 10 g:) Sl
LT RRAYL—> B:F2 230 FrEF X T7— L
Sr o 4 9 | FENES - - - — 8 484 | EEERSK (#afB)
%% 5|5 | /N X— L 56.5 (dhuk) (-1) | HEiIEH
LV RKYJUXIR BNRTFII)R HET77—L4
PP 4 8 | M. 3¥z)L - - — = = — | EEEE (KH)
X% 7 F—=IWVTZya 57.5 * (B840 (—) (B) HBL—RK—Z
R:y4—I>TLh B:TS5y >TTULER (A) #A3-KL—-ra>aErr
® I —F—@EBIERL
1S=9r= 12,3,10,11,4,9,8,2,1,6
23—+ — 12,3,10,11,4,9,8,2,1,6
3a—+— [12,(3,10),11,(4,8,9),2,1,6
43—F— 12,10,3,11,8,4,9,2,1,6
[ RN
B OB 12 830M 714K 10-12 410 e & 7-8 270M 3ER 8-10-12 1,840M
7 B 12 180 8-12 640 | | # B 8-7 610M | | 3=H | 12-10-8 13,220
10 120 8-10 270 B E 10-12 1,330M
8 1509 B H 12-10 2,730

ARICOVWTRDTEEERROODE. TR LI,




